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1. R |2x-3| =7 W x A Faar fadl?

(1) 5 -5 (2) -2,5 3 2 -2 4 -2 -2
If |2x~3| =7, then what are the values of x ?
(1) 5 -5 2 -2,5 3) 2, -2 4) -2 -2

2. 1% = f fod) ?

(1) 0.05 (2) 0.005 (3) 0.02 (4) 0.2
Half of 1% is equal to :
(1) 0.05 (2) 0.005 (3) 0.02 (4) 0.2

3. SN SR GEI=A1 i Wi 27 3R, oY oI G&Al I ?

(1) 15,16 (2) 14,15 (3) 12,13 (4) 13,14
Difference between the squares of two serial natural numbers is 27. What are these
numbers ?

(1) 15,16 (2) 14,15 (3) 12,13 (4) 13,14

4. *3*4 @ OR i WE&AT12 A qOf 9T SO SR, W * A7 g SR T 31 A9 A X A
He HIVdT ?
1 1 2) 2 GO 4) 4
*3*4 is a four digit number completely divisible by 12. If the same digit appears in both

the places of *, find the digit.
1 1 2) 2 GO 4) 4

5. UH THIM T 1000 ST Bae T @Ed T 140 SSHEG d 12 TAMHE WA HI0ATS FHEdd
F, ST TAH THI AT TR 10 & FHI 18w, R et ufgen g fovedt ?
1)y T175 (2) T 225 @) T125 4) T 150

A farmer borrows ¥ 1000 and agrees to repay with a total interest of ¥ 140 in 12 instalments,
each instalment being less than the preceding by ¥ 10. What should be his first instalment.
(1) %175 (2) T 225 3y T 125 (4) T 150

6. UH foshar aifeRet T 2500 T WS HI@l, ST GHAT FTYRATEA1 2700 o foehal. g fosha,
TTEHTeT T 2800 1 Tashall. Uik fashi=an dadl 12.5% Aeaa td st e dNeare THol qeaarda
4l = ...
(1) T 350 (2) T 365 (3) T899 (4) T 1000
A dealer purchased a transistor set for I 2500 and sold it to a sub-dealer for ¥ 2700. The
sub-dealer further sold it to a customer for ¥ 2800. VAT @ 12.5% is paid on every sale.

Then the total tax paid is :
(1) T 350 (2) T 365 (3) T 895 (4) ¥ 1000
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V7 +V5 V7 -5
W T e
1) 6 ) 12 3) 14 4) 18
V745 N7 -5
Sove 75 " Tr B —
1) 6 2) 12 3) 14 4) 18
6-2X3+6 _
8. 2+6%x3-4
9 3 3 3
S ® @) < O
6—-2X3+6 _
Solve o a4
9 3 3 3
- @ 6 3 @ <

9. faoren TS 2150 TR fHasdl. i M ek 2/5 @4 &l o Ufecardes! 1/3 *REH gl ®
TR foelt Taare et Ted 2
(1) 70 (2) 60 (3) 50 (4) %90
Vijay gets payment of ¥ 150 daily. He spends 2/5th on food and 1/3rd of the remaining

amount on household. How much amount does he save daily ?
1) R70 (2y R 60 (3) T50 4y 90

10. TH G 60 HeTi=an Sar=t GUEd 11 9% 5 6feR R, foasse quad st dsg af 12 98
3Tt TR fershr =99 14 ?
1) 4798 (2) 34d 3) 379 (4) 53 ad
In one class average age of 60 students is 11 years 5 months, When the same is deduced

with that of a teacher, it comes to 12 years. Then what will be the age of teacher ?
(1) 47 years (2) 34 years (3) 37 years (4) 53 years

11. TF G000 TF A9 HYF 9 99 %het 319dl W9 A, R o e fordl o/ a ?
1) 99 (2) 81 (3) 18 (4) 162

1
If 9 is subtracted from ath of a number, the answer is 9 then what is that number ?

1) 99 2) 81 3) 18 (4) 162

oA HIHTATS! ST / SPACE FOR ROUGH WORK
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12. & faum ‘A’ a1 fammmes 500 f. . X sracen ‘B a1 fommfl 1 ae@ S, oRa AT a9 Sl
q1/2 T HTad. a1 fammETen SRy 9 fadt ?
(1) 7500 f&. 4. /a9 (2) 700.9 f& 1. /a9
(3) 666.66 f&.Ht. /am™ (4) 600.60 fe. 1. /am9

One aeroplane covers a distance of 500 kms from place A to B in one hour. On its return
it covers the same in half an hour. What is the average speed of aeroplane ?

(1) 7500 km/hr (2) 700.9 km/hr
(3) 666.66 km/hr (4)  600.60 km/hr

13. VO WhH Raveee=an W= 2/3 =13/10 3R, faveEaes T 90 \edd Wy
W@hH et ?
(1) T 38 (2) T18 (3) 80 (4) T 45

Ramesh has 3/10th of two thirds of the amount had by Ritesh. If Ritesh is having ¥ 90
then how much amount does Ramesh have ?

(1) T 38 2) T18 3) T80 4) T 45
b TIB_ o 5TB
" ey Y 91 |
1) 63 2) 0.63 3) 6.3 (4) 0.063
5733 _ o1 then 37 _ 5
63 or WM Tg T = o
(1) 63 2) 0.63 3) 6.3 4) 0.063

15. UH §@9ed W€ &1 3/4 YN fHaqT W 4 92 Felt oT8al IR §&A1 126 38d @ ot
HE&AT ST ?
(1) 28 2) 15 (3) 32 (4) 18

If 3/4th of a number is added to the same number and multiplied by 4, the result is 126.
What is the number ?

1) 28 ) 15 (3) 32 4) 18

16. UTF G&AMIART 357, 363, 369, ....., 3TV 3@, X I7 AlfcTahd JUIRY 10 St TEAT IV ?
(1) 411 (2) 405 (3) 413 (4) 417

A number series is written as 357, 363, 369, ....., what will be the 10t term in this series ?
(1) 411 (2) 405 (3) 413 , (4) 417

AT THIHTEIS WA / SPACE FOR ROUGH WORK
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17. ¥ S ol € 60 AR, TE HeA gfecn e 6 3 His! AR wiq e deven 12 4
TR SR, T G WEAT iU ?
(1) 52 (2) 58 (3) 60 (4) 48
The average of three numbers is 60. The second number is greater than the first by 6 but

smaller than the third by 12. Find the second number.
(1) 52 (2) 58 (3) 60 (4) 48

18. TN, wriran Qan 3 99+l @M 3R, TF auiAdl <=l 9ard TH0T 5 : 6 Bt R IR o1 94

H14 ?
1) 13 a (2) 1599 (G) 14 = (4) 1699

Shirin is 3 years younger to Maria. After 2 years the ratio of their ages will be 5: 6. How
old is Shirin today ?

(1) 13 years (2) 15 years (3) 14 years (4) 16 years

19. (13)X(=5)—(=96)+(2)+20=..?
1 3 2) 4 @) 5 4) 6
(13) X (—5) = (= 96) + (2) + 20 = ... ?
1 3 2) 4 - () 5 4) 6

20. WRd! 37T 3THE areamEe 7% 180 foh. M.omR. & WA= fevi oA At 10 for . 9 ameft
20 foh. 7. ST 19 AT, TR foRdl TETHE o THEAHE dedid ?
¥ 5 (2) 6 3 4 4) 7
Bharati and Anand are 180 kms. apart. They start running simultaneously towards each

other at a speed of 10 km/hr and 20 km/hr respectively. In how many hours will they
. meet ?

1) 5 2) 6 3) 4 4) 7

21.  AHATATST RS 1Y ?

(1) ged=T ™ (2) wTSi ™

(3) gt T (4) TP wERIET AR
What is Ornithology ?

(1) Study of birds (2) Study of bones

(3) Study of earth (4) None of the above

THodl HIYTETS SR / SPACE FOR ROUGH WORK
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22, WAEIH! RO TR ¢ GEAUNESA TR ?
(1) R 2) 3y T (4) TY®

From those given below which element is a Micronutrient ?
(1) Phosphorous  (2) Zinc (3) Nitrogen (4)  Sulphur

23. EEUMHIE F19 AN ? :
(1) ey 3Tmar (2) TETE! QraE Al

(3) <=1 UTAE YETE (4) o FEE AR

What does hygrometer measure ?

(1) Relative humidity (2) Relative density of liquids
(3) The water flow of a river (4) None of the above

24. KA A9 AT FEA TOAT=A] FHIGS! HSALGS] HiST=A1 UOATA] HIIS! el 1 STHAN ?
(1) i + Tt - TS
(2) I8 + Ui — IWRET T
(3) I3 7 vl §E 9T IFHd
(4) Hie groaa Hew favee.
Why do we use cloth strips dipped in salt water instead of those dipped in normal water
when a person has a fever ?
(1) Salt + water — endothermic reaction
2) Salt + water — exothermic reaction

(
(3) Salt and water are easily available
(4) Salt dissolves in water easily.

25. FEGRAMET & AT FHv SiHed Aredl

(1) weufrs I (2) =ATgF T

(3) @ O 4)  HHHE A

To which class does the disease Filariasis belong ?

(1) Endemic diseases (2) Epidemic diseases

(3) Pandemic diseases (4) Communicable diseases
26. 9fiTH Gemsifas FAEad TR FAHS B ?

(1) | I (2) e

3) IR TAHD (4) THEF GAHS

What harms the natural microbial flora ?

(1) organic farming (2) irrigation

(3) compost (4) chemical fertilizers

el SHIHTETS! S / SPACE FOR ROUGH WORK

P.T.O.



QRM 8

27. @ feden faumimsd g faum o o ?

(1) TYHE Heiedl Sfad=a1 G 7o o197 SUGUATIST FIR Hethe aTaidw.
(2) TE TR FOAEET W Hehe 91 393 H.

(3) WA ITHIU] ATAIHCH HIUATATS] HICUISTH IS TN

(4) it frsiqe sweamEt faise 9ol arwam.

Which of the following statements is a wrong statement ?

(1) Copper sulphate is used to determine sugar in the urine of diabetic person.

(2)  Ferrous sulphate is used in the preparation of ink.
(3)  Calcium carbonate is used in laboratories for sealing air gaps in apparatus.
(4) Bleaching powder is used for disinfecting drinking water.

28. FFRETY &I FE HIO ?

(1) T qEEet (2) TR FEH

(3) TETYHRIE WL (4) U AAA 3T IS
What is the main function of lungs ?

(1)  Supply blood (2)  Purify blood

(3) Help in digestion (4) Store digested food

29. YA THE S U
(1) SARATS @ 4iq SRR 99,

(2)  STUEEHMER GRET W] AVRHA 9.
(3)  STUHHTH HRW 9 FYIKAMIR TREL
(4) SAYen! THE! AT

Isotopes of an element have :

(1) same atomic number but different atomic mass number.
(2) same atomic mass number but different atomic number.
) same atomic number and same atomic mass number.
)

none of the above

AT HIATEIG AT / SPACE FOR ROUGH WORK
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30. TErE verd S TR Wemen AFAiAl @A
(1) oSt St ared 3T9a 9 feafas w1t FHt 2a W,
2) TiaS St wH B S 9 Feafas e aed W
(@) oS St 9 feafas Sl Q=1 .
4) Tfas =1 9 fegfas ot et Y B .
When body is thrown in upward direction then :
(1) Kinetic energy goes on increasing and simultaneously potential energy decreases.
(2) Kinetic energy goes on decreasing and simultaneously potential energy increases.
(3) Kinetic energy and potential energy both increase.
(4) Kinetic energy and potential energy decrease.
31. IV U ARG e TS IrEql ?
(1) did (2) regfufiem 3) fae= 4) =
Which metal prevents the rusting of iron ?
(1) Copper (2) Aluminium (3) Silver (4) Zinc
32. I, S AT hie B A TS HIvTedT fHhRo=T HRT Hawd ?
(1) oTcH (2) e (3) 4) IR
Which radiations are used to prevent sprouting of onions or potatoes ?
(1) Alpha (2) Beta (3) Gamma (4) U.V.
33. WAl STaRd §8F HIoW ?
(1) ufesm 2) A (3) wHEfsgd 4) ES
Which of the following is a fossil fuel ?
(1) Petroleum (2) Wax (3) Biodiesel (4) Wood
34. DOTS &1 ITAR K0T FONES! 3TQ ?
(1) fast (2) WH (3) wdfefen (4) &=
To which patients is DOTS treatment given ?
(1) Polio (2) AIDS (3) Hepatitis (4) Tuberculosis
35, foesmoes i AT S I IeTdeh! vl SAeqdars fHesfaar 4 ?

(1) wglas (2) S (3) A (4) -oe @d
From which botanical species pesticides for the control of pests and diseases be obtained ?
(1) Neem (2) Jatropha (3) Ipomoea (4) All the above

el SHIATESI | / SPACE FOR ROUGH WORK
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36. ‘v fRawTal deedis 9 fasg wiafsar e’ @ v fagr/fam e ?
(1) @R frem (2) onffafesrn fagta
(3) =gl W gHa fEH (4) ATIhR! HIVAET TG
“To every action there is an equal and opposite reaction”. Which law is this ?
(1) Boyle’s Law (2)  Archimedes’ Principle
(3)  Newton’s [T law of motion (4) None of the above
37. 2 HIEF AR ATV Y H ared ?
(1)  =SrsdtyEAn Tan fiysd
(2) T HITAA W Y FLA
(3) @ HITAAT a7 34 ATl
(4) R FEE T
Why do we feel good after applying eau - de - cologne ?
(1)  Evaporation brings in cooling effect
(2)  The cut gets heeled
(3) Tt does not allow flies to sit on the surface
(4)  None of the above
38. WAl FIEI A=A Glsha foedn e,
(a) wEE =g e,
(b)  hooATH] WA FTE T,
(c) TSI FEATE SafTEl dd S,
a1 TE AN YA SAEeR Had HIvl R ?
(1) igdes  (2) HewAstaA! 9@ 3) fowas (4) AR
The following are some examples of food spoilage :
(a)  Meat becomes unpalatable.
(b)  Blackening of banana skin.
(c)  On storage, grapes lose their taste.
Which of the following factors is responsible for all these spoilages ?
(1) Instrinsic (2) Microbial growth (3) Enzymatic (4) Oxidation
39. gl SV pH Hod 7 3T9d degl 199 § Y 378 ?

(1) AFAgHE 3T (2) o gHiE eTed

(3) eI 3T (4) Hfry e

When pHv value of a solution is 7 then what is the nature of that solution ?
(1) Acidic (2)  Alkaline

(3) Neutral (4) Mixture

oAl HTATATST ST / SPACE FOR ROUGH WORK
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40. 3T T fomoammT SR Hio ?
(1) o TR =2 oTR.
(2) STmEE o= Tmiden feean T fafeRvor SR .
3) wd i wfawe g et 11 firesd.
(4) Tod GwRma e 31 S g aredl.

Why does sky appear blue ?

(1) Itis actually blue.

(2)  The atmosphere scatters blue colour more than the other colours.
(3)  All colours interfere to produce blue.

(4) In white light the blue component dominates.

41, ErEE BT AT FTHIAT FLOAT AT B 2
(1) Hig-ThEE FEGM FHoled GURUIE FeIATIA FHL0ATEIS]
(2) T3 Ot SR Foea GURIE JogHdd HUIHE!
(3) U AT GHTETS HEIHTI HvATEE
(4) aeTiR! FIHEET T
What was the Simon Commission appointed for ?
(1)  for evaluating implementation of the Montague Chelmsford Act
(2)  for evaluating implementation of the Minto Morley Act

(3) for evaluating impact of the Poona Pact
(4) None of the above

42. Tfews Wikl &1 AHAG JTEl gl ?
(1) 3.9.1919 =1 HEATH AR FHIUAHTE]
(2) 3.9. 1909 <A1 HIIATH AR FIATHER!,
3) fega TsHvSH=N JwiEre]
(4) SfEFAaTE ST gATRISTE! Al FHITATATS!,
What was the Mudiman Committee appointed for ?
(1) Enquiry about the Act, 1919
(2)  Enquiry about the Act, 1909
(3) Enquiry about the Dyarchy
(4) Enquiry about the Jallianwala Bagh Tragedy

43, I W= AgEETet YAl 1918 AL GRSt < Hesdes FwIviedn e gE el ?
(1) TRER (2) HeTR (3) @e (4 T
In which district in 1918 the peasants started no tax movement under the leadership of

Mahatma Gandhi ?
(1) Gorakhpur (2) Solapur (3) Kheda (4) Pune

Hoedl HTATETS ST / SPACE FOR ROUGH WORK
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44. . FaTHIA HIW feramor @ ?
1) f =W s w9
(2) freeq & fegeam
(3) TR oTe T wRAIRES ey A farsies ©e
(4) A THE TIE S AR
What has Dr. Ambedkar not authored ?
(1)  The Problem of Rupee
(2) Riddles in Hinduism :
(3) Gandhi and the Financial thoughts on linguistic state
(4) None of the above options is correct.
45. . TI. SR A HIOC FAHH T A8 ?
(a) AR faYEUrR=T I B,
(b) Teesist ATIfSTeh GURUIER AT HAHR -1 shai=n TsimT fea.
() T A= ERiee WSId VIR he,
(d) T3 T AEURARET g
1) (@ (b)F (o) 2 (b (99 ()
(3) ol wd (4) IUAIFT THE TS
Which statements are true about G. G. Agarkar ?
(a) He was influenced by Chiplunkar
(b) He left Kesari as he developed differences with Tilak on Social Reforms
(c) He translated Shakespeare’s Hamlet into Marathi
(d) He was an atheist
(1) (@), (b) & (9) (2)  (b), () & (d)
(3) All the above (4) None of the above
46. HIUA WA FAHATS MRA fEThd Jodes e A ?
(1) ¥s (2) ST (3) e (4) gHwH
As a result of the reaction in which country was the Khilafat movement started in India ?
(1) England (2) Germany (3) Brahmadesh (4) Turkastan
47. 1902 HEA TIHN FH=AT ARSI AIHET IR TGA SqvATl Hifqseit ot wivit srqe ?
(1) < FEER FATH (2) TETeH W
(3) &R & wd (4) ST WG HERIS

Who took the revolutionary decision in 1902 to keep the vacancies reserved for the backward
classes in Government jobs ? '

(1) Dr. Babasaheb Ambedkar (2) Mahatma Gandhi

(3) R.D. Karve (4) Chhatrapati Shahu Maharaj

FHoAT HIATETE! ST / SPACE FOR ROUGH WORK
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48.  JTEAT WHISTSIS o 10cAT STl Se 371 7
(a)  TTEAT TSI LTI RASH FYAT hedl,
(b) TS gy ufent q@Us =rerE.
(c) IRE ¥MEd ¥AIQA e A
(d) TegwEmen W= Yeaiel Hes e,
1) (a), (b), (0) 2) (a) (b), (d
@) () (c), (d) 4) (@), () () (d)

What is true about Prarthana Samaj ?

(a) It was founded by Tarkhadkar brothers.
(b)  Subodh Patrika was it's mouth piece.
(c) Has roots in Bhagwat Dharma.

(d) Brought along progressive attitudes in Hinduism.
1) (), ®) © 2 () () (d)
(@) () () (d) @ @) (®) () ()
49. YA HTATHHT FHH ATEL.
(a) T TBIB (b) fToorwrs Jod@
(c) Wi HEHT TZaes d) T TBEs
1) (), @), @) (© (2) () (0) () (a)
() (d), () (a), © @ @ b) © @
Arrange chronologically :
(@) Swadeshi Movement (b) Khilafat Movement
(c) Civil Disobedience Movement (d) Quit India Movement
1) (b), (@), (d), (¢) ) (b) (c) (d), (a)
(3) (), (b) (a) (9) @) @) (b)) (d)
50. I fiet arear TS FIOTE TS 1906 HEY T Al ?
(1) TEE FEg (2) s g
(@) e fem (4) @ fiz &
Which organisation was founded in 1906 with the encouragement of Lord Minto ?
(1) National Congress (2) Sarvajanik Sabha
(3) Muslim League (4) Azad Hind Sena

FHoAT HIWME ST / SPACE FOR ROUGH WORK
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51.

A Ao T&Eed i @Y 18! 7

(a) Bl ATEHIAT TATIT el

(b) ‘STQr 91 9™ @A B

(C) HIETSHE FIUMATY f8d T8 T

(d) 9&m™ 1937 =1 Taeus defae.

(e) U AfEgw IRAT Yeee Fe HeEwr we foel= .

(1 (k) ) (9 3 (@ @ (e
What is not true of Swatantra Labour Party ?

(a) It was established by Dr. Ambedkar

(b) ‘Janta” was its mouth piece.

{c) Interests of the labourers was its agenda

(d) The party contested 1937 elections

(e) It merged into All India Scheduled Caste Federation.

@ (b 2 (© CIRC) @4

52.

G FHIATEA v IR hedn gicn ?

(1) UV AHHSTA 10 d 15 TFh TR FalgeR fHemE.

(2) = f5Ea wEAYgdE SER FF T4,

(3) wamHd fgga yEAYSH! & HUA .

(4) IR F6.

What was the recommendation of the Simon Commission ?

(1)  Out of the total population of India 10 - 15% should have the right to vote.
(2)  There should be no Dyarchy in the Central Legislative Assembly.

(3) Dyarchy be discontinued in the provinces
(4) All of these

53.

TRV F FAWNYF d@deoiae Hleh v ?

(a) STRUGR USTeh g T TN I o Hiideh Fesaes g,

(b) STRUHE TS T HATIUHTE @ S a2,

(c) ST, feTeht STl & 3aU=al T HcaIee, HeleHT Fei=q1 foaiad sumid Bl

(1) (@)= (b) 2) @9 3 ®F() 4) (@) (b) F ()

Differentiate between Non-Brahmin and Satyashodhak movements.

(@) Non-Brahmin was political while Satyashodhak was a social and religious movement.

(b) Non-Brahmin movement was dominated by Marathas while Satyashodhak was
dominated by Malis

() Non-Brahmin was based on thoughts of Dinkar Javalkar and others, while
Satyashodhak was based on thoughts of Mahatma Phule

1) (a) & (b) 2) (@) &( G) (b)) & (9 4) (@) b) &)

oAl ®IMTETS! T / SPACE FOR ROUGH WORK
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54. Vg AERSH] & shel ATEL ? |
(a) Wi oo Fad F0ATY STEIRATHLL
(by foreroma fesriaT W AT,
() WYH HeR™ & A HifqRNHIAl IUS HSA hell T4,

1) () (2) (b
3) (o) (4) SOATH! FIVERET THE TR AT

What can not be attributed to Shahu Maharaj ?
(a) Issued proclamation for compulsory Primary Education.

(b)  Announced fee relaxation to women in Educational institutions.

(c) Did not help openly the freedom fighters later though initially he did help.
1) (@) (2)  (b)
(3)

(©) (4) None of the above options is correct

1
3

55. fagrata SuRvg deie TR S fawnn e g ?
(1) o (2) 2 3) 4) 4

With which crop was the Champaran Satyagraha related ?
(1) rice (2) jute (3) indigo (4) sugar cane

56. T 1942 9 Tacs AT HI AA! ?
(a) oo TRemyge freres drepian v @ w3t 2.
(b) T@ABATT GIHRA MEAT Teh e,
(c) TREHW AHAT FTAATHA! FTeoToold TR Srqell ATE
(d) T T Teas qiger g Tt

1) (@), (0) T (c) 2) (), (93 (d)
3 B3I 4) (@), (b), (c) 3 (d)

Why was 1942 movement unsuccessful ?

(a) Unarmed people could not succeed against the British Government.
(b) Gandhi was arrested prior to the movement

(c) Those in service did not join the movement

(d) Muslim league did not support the movement

(

(

) (@) (b) & () (2)  (b) (c) & (d)
) (b) & (o) 4) (@) (0) (0) & (d)
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57. 1. AEERY FASHIAT HIVAT foemdier 9.ug, €. e Feft ?

(1) W7 Td Ah AT (2) @ farmdis

(3) wIdfsEn foamdts (4) i famds

Which university bestowed Ph.D. on Dr. Babasaheb Ambedkar ?
(1) London School of Economics (2) Boston University

(3) Columbia University (4) Cambridge University

58. MYfieh WRAKNG & R S HIoTer Tomrmd ?

(1) wfersm gt @) fa . fi

(3) WA feah (4) WETCH SAfdeT Fel

Who is called as the pioneer of women'’s education of Modern India ?
(1) Savitribai Phule (2) V.R. Shinde

(3) Lokmanya Tilak (4) Mahatma Jyotiba Phule

59. U HIRIEA FHIU fFUH SET R ?
(a) STHTERS TeEHT Wl M Ii=amd a e,
(b) SR A HAGR HET=! AATO A= FTe.
(c) STEITAIST TETE M UgTq ST,
1) (@, (b) 2) @ (©
3y (b)), (© (4) O fodt
Which statements about Pune pact are correct ?

(a) It was signed between Dr. Babasaheb Ambedkar and Mahatma Gandhi.

(b) The demand for independent constituencies as suggested by Dr. Ambedkar was
accepted.

(c) Constituencies were reserved for lower castes.

(1) (a), (b) 2 @, (@
(3) (b), (©) (4) all the three above

60. 3TATtRT o el . R hITdl WEE T et 2
1) sfew zzd 2 T
3) fegrum anffae Rufsaea it (4)  fisma
Which organisation was established by the Indians living in America and Canada ?

(1) India House (2) Gadar
(3) Hindustan Socialist Republican Army (4) Mitramela

HoAT HWTETS AT / SPACE FOR ROUGH WORK
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61. T TG T HNH 9ui ‘ oers fEg ud’ (Aggressive Hinduism) 378 I et ?

1) "R g ) Wi frafem

(3) it sl 4) e ud

Who described Dayanand Saraswati’s Arya Samaj as “Aggressive Hinduism” ?
(1)  Sarojini Naidu (2) Bhagini Nivedita

(3) Annie Beasant (4) All of these

62. form AT HEGT T THRE ?

(1) giey orm fre favser adisn fean g,

(2) YRATE HIUART TR T foFeq ASaTed ST Tegd.
3) T Aiera wiferear e ey 8.

(4) TTIHR! HIvER TAE A A

~— S

Why did the Congress reject the Cripps plan ?

(1) Muslim League supported the Cripps mission.
(2) No political party in India was satisfied with it.
(3) These proposals included creation of Pakistan.
(

4) None of the above options is correct.

63. 1857 A1 ST HT1F HRUAYT e ?

(a) TERIET STHAS YR (b) wWIRS® g wifife St eay
() @iTEida s (d) HIA HTBEA ToATTER
1) @9 (b) 2 ®F@ @) @ bF() 4) (@), (b), () & (d)

What led to the revolt of 1857 ?

(a) Dalhousie’s aggressive policy

(b) Interference in social and religious life
(c) Unrest in the sepoys
(

d) ‘East India Company’s extent of power.

1) (a) & (b) @ & G @ . 0&C @ @ ®)C&(d

THeeAT SHTHTETS ST / SPACE FOR ROUGH WORK
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64. 1920 =T TETHR Fdcsiell HA YT Bld ?
(a) dieed HeAGH dTecic! 7w,
(b) HIHR=AT HIFN HF § KA AT SHqeen HaAal.
(c) fofewi=n fodiurdta arear.
(d) faarwd g fode folidt qeeitm o,

1) @, 0 2 () (0 @) (@) () (9 4 (@, () () (d)

What fuelled the 1920 Non Cooperation Movement ?
(a) Rise in prices/inflation due to World War I.

(b) Limitation imposed by law on personal independence.
c)

( Discontent against British.

(d) Muslim Opposition to the British due to Khilafat issue.

1) (@) (b (2)  (b), (0 ®3) @ ®) (© ) @, (b)) ()
65. YRAHATE TR el [MeRiqd vl TS vt YR SN FH0A e ?

(1) 1892 <1 =hrI<T (2) 1909 =1 HrIAT

(3) 1919 = kI (4) 1935 =1 k1A

In which Reformation Act was a provision for the payment of salary of the Secretary of
State for India from British revenues made ?

(1)  Act of 1892 (2)  Act of 1909
(3) Act of 1919 (4) Act of 1935

66. TS hgAT D! Fleel RIS e ?
(a) TRITEATAT WRAEE
(b)y T G@ED TSYUATEIS!
(c) o wifves w_w (TR, @) ame sevamEe!

1 (@) (®) @) (), (9 3) @ © 4) (@), (b), ()

For what did Lord Curzon partition Bengal ?

(a) Administrative convenience

(b)  To curb nationalist movement

(c) To separate other linguistic areas. (Bihar, Orissa)

1) @ () (2) (b (9 3 (@) (© (4) (), (b), (0

oAl HIWMEIS! A / SPACE FOR ROUGH WORK
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67. e f&g WA= TAIAT AW HIM A1l ?
(1) T AEs fafesl Yhem Aueem

(2) i wergswirel fereteman o
(3) eT= result
(4) wIRT THET TR

What facilitated establishment of Azad Hind Sena ?

(1) The precarious situation of the British in the Second World War

(2) The influence of the British in the First World War

(3) Partition of Bengal
)

(4) None of the above

68. Sifden Feiared 19 WY 7 ?

(a) Shfqar=m aEfeasi sTH ®A e Sifde.
(b) STSIETE Gl FTHE WU ATSAE Pl
(C) TEH T ¥4 AT A IT=a1 T HER JH1E T,
(d) oot fervogurent @ R &
(e) T TS, 3USH, I, HelS, AT, T[Sl WTe I
() fadfem omed & @i yrqear S,

(1) (a) @ (b) (2) (b)d(d)
3 (©9@  4) wE faum @@ e

Which statements regarding Jotiba Phule are incorrect ?

(a

) Named Jotiba as he was born on Jotiba Procession day.
b) His surname “"Phule” was drawn from the profession of his grand father.
p gr
)

~—~

<)
d
- (¢) He knew Marathi, English, Urdu, Kannada, Tamil, Gujrati languages.

Thomas Pen’s “Rights of Man” had profound impact on him

—~

Vishnushastri Chiplunkar was his critique

(f)  “Lack of Education is the root cause of all the trouble” he firmly believed in.

(1) (a) & (b) 2) (b)) &(d)
(3) (e) & () (4) All the statements are correct

HAT FHHEHES I / SPACE FOR ROUGH WORK
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69. THIUHA HEEA HTHIA 99 &1 e ?

Tl 6= foet 1 Aeed
fafeen=t ' arer/wrel 9 T w0 TFidt arel

Why did Congress boycott Simon Commission ?

(1) Congress was not represented in the reforms committee.
(2)

(3) Complete independence was not granted

(4) The British had adopted the policy of divide & rule

Muslim league was represented in it.

70.  H{U WRATE 3@ TR WU F30d ATHAYE HHd HI0AT ST 2

(1) e (2) (3) R (1) &

In which National Congress session was the resolution of Complete Independence
passed ?

(1)  Lucknow (2)  Mumbai (3) Lahore (4) Surat

71. S T4, e 9 w3, SR 9= faarom y49ifaq sl HHTST QU i ?

(1) e $o (2) el &d

(3)  TidTes TIUIYT ST (4) = TR

Which Social Reformer was inspired by the writings of J. S. Mill and H. Spencer ?
(1)  Mahatma Phule (2) Maharshi Karve

(3) Gopal Ganesh Agarkar (4) Justice Ranade

72,  Sufade GaTURE 18 AE Y W 8l ?
(1) T HegS e groar=n (2) TE ARSI | 7 gogrE

(3) UM g AR (4) USRI FHIMETE TR

Individual Civil Disobedience movement extorted people to :

(1) Join the Second World War (2)  Not to join the Second World War
(3)  Boycott foreign goods (4) None of the above

THoAT THTATATS! ST / SPACE FOR ROUGH WORK
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73, TI9Tes U SATREUFT FHIMeR [Teems Tegar 9 W[ 1 1 foiema wrd ohed ?

(@) TS (b) Tt SHErE

(c) difearg (d) 3TEgEgal

1) (b), () 2) (&), () 3} (B, () (d) (4) w0 wd

What Gopal Ganesh Agarkar did not believe in and therefore worked against ?

(@) Rebirth (b) Caste system

(¢) Child marriage (d) Untouchability

1) (b), (o) (2) (b)), (d) 3) (), (), (d) (4)  All the above
74. Hl.%. Fd FoaEd w1 @ AR ?

(@) T FEA Hictsrel TATTAT .

(b) T TE. A €1 3. wigen farnfusrEt e .
(c) T fayastt faame Fan.

(d) T HEAT S ST el

(e) TN W Hifed TR fohl U sliz@ard.
(f) T YR Tohds sRTe oA HATef

1) (a) (b) (o) (d) 2 (®) (9, (d), (D
3) (@), () (e) () ) (©), (d). (&) ()

What is true of D. K. Karve ?

(a) He established Fergusson College

(b) He established S. N. D. T. Womens University.

(¢} He married a widow.

(d) He established Samta Sangh.

(e) He is known as Maharashtra’s Martin Luther King.
(f) He was awarded Bharat Ratna

1) (@) (b), () (d) (2) (b, (o), (d), (f)
3)  (a), (b), (e), () 4)  (©) (d), (e), ()
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75. WIS 9E Y@ 3R 1 g ?
(a) MR HeB FAY
(b) SIS T el HEATH AEhR
(©) Buftw fady
(1) @) (2) (a), () G ® 0 @ ©
What was the chief objective of the Swaraj Party ?
(a) Council Entry
(b) Boycott of the institutions established by the British
(¢) Constitutional Opposition
1) (@ (2) (a) (b @ ®. @ (©
76. 'Hi3 weammer' @ Hfow 3fgw w1 Ad ?
(1) e wrR GRS & (2) g afefw fosemaa dsfan
G) i == (4) oo wEE E
What was the ultimate objective of the “Salt Satyagraha” ?
(1) Repeal of Salt Laws (2) Economic relief to common people
(3) Poorna Swaraj (4) None of the above
77. 1920 9EA HOME A9 ‘ syt gRwg’ Hvf swige ?
(1)  wewe e (2) I IEERY ITETHT
(3) SR UG HES @) fa e
Who organised the ‘Conference of Untouchables” in 1920 at Mangaon ?
(1) Mahatma Gandhi (2) Dr. Babasaheb Ambedkar
(3) Chhatrapati Shahu Maharaj (4) V. R. Shinde
78. TS weamrg 9w’ sy fotiva e hef ?
(1) i3 ra 2) e sE
(3) HRA W 1919 =1 H1F<1 (4) SIENETar 91 g
In protest of what Gandhiji started “Satyagraha Sabha” ?
(1) Salt Law (2) Rowlatt Act
(3) Govt. of India’s Act 1919 (4) Jaliyanwala Bagh massare
79. WERTSTS 3T WYY HIVTel FgUrdrd ?
(1) ®. g A (2) W SAfast B
(3)  STUUM TSN (4) AR

Who is called the first social reformer of Maharashtra ?
(1) Chhatrapati Shahu Maharaj (2) Mahatma Jyotiba Phule
(3) Anna Hajare (4) N.G. Gore

HTHT HIATETS ST / SPACE FOR ROUGH WORK
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80. dfedr TSRS Hivd! faem SRS 371 2

(a) T FEHT WTSd e g,

(b) < AR Y= <A

(c) I fgyem yi=n WeR .

1) (a) (2)  (a) (b) (3) (@) (®) () (4) IR L.

Which of the following statements are correct regarding Pandita Ramabai ?

(@) she was a Sanskrit scholar.

(b) she gave discourses on Vedas.

(c) she adopted Christian religion.

1) () (2)  (a) (b) 3) (@), (b) (o) (4) None
81. WA TSI HIEH! ATTE Tohel 2ok FHoll U il A1d 2

(1) 67% (2) 50% (3) 20% 4) 17%

How much percentage of energy is produced in India by using Coal ?

(1) 67% (2) 50% (3) 20% 4 17%
82. WeTedent IV HWARVA A FIHG 3G ?

(1) HFRER - |HTe (2) T@ER - AT

(3) VUM - IR (4) qmEI - 3

Which of the following wild life Sanctuaries is known for Bisons ?

(1) Sagareshwar - Sangli (2) Melghat - Amaravati

(3) Radhanagari - Kolhapur (4) Tansa - Thane
83. WICICTaeh! ST T ToAT=T 3 T feerd AT 2

(1) =i (2) TSl (3) rEaE @) R

Which of the following hot water springs is not located in Ratnagiri ?

(1) Vajreshwari (2) Rajwadi (3) Asawali (4) Unbhere
84. Sver’ ult ioren frewma feerd a1meq ?

(1) ¥ ST (2) HrEg

(3)  3TORIal (4) oArmETE

In which district are the Jogeshwari Caves located ?

(1)  Mumbai Suburban (2) Kolhapur

(3) Amravati (4) Aurangabad
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85. oSl THE 9 TR HI0c] HIeTea™ Siedl e 371 ?

(1) I (2) O
(3) gfeu e (4) FOTIR! HIUEE A
Red sea and the mediterranean sea are connected by which canal ?
(1) Suez (2) Panama

(3) Indira Gandhi (4) None of the above

86. 'IEd YATHd TS SIUATH ' TRERRIAHA, Foftd shHiehTd T 10 TRAT= IRk Teshelom Je HerTgrrd
fSreer woran ?
(1)  STHUear (2)  TrefeRredt (3) =@E (4) ifear

Which is the district in Eastern Maharashtra, that has been awarded the third “Yashwant
Panchayat Raj Abhiyan’ Puraskar of < 10 lakh rupees ?

(1) Amravati (2) Gadchiroli (3) Chandrapur (4) Gondia

87. WRRNA a7 HERICN Y EIM HIvE YA STeedld ?

(1) 3000 fet Ge ST 9T 9_W (2) 1000 fdt saeR Si= YR

(3) 600 Tl R TSI YeW (4) 600 HHl Y& Y Ui YR
Where are the Evergreen Forests found in Maharashtra ?

(1) 3000 mm and more rainfall region (2) 1000 mm rainfall region

(3) 600 mm rainfall region (4) Less than 600 mm rainfall region

88. WIGTAUeh! VAT TETIAIAT TR YRATS T 31 ?

(1) 36°07' d 97° 25 9fy=H (2) 08°04'd 37° 06' T&
(3) 08°04'd 37° 06' I (4) 68°07' 7 97° 25 qd
Between which of the following longitudes is India located ?

(1) 36° 07" to 97° 25' West (2) 08°04' to 37° 06' East
(3) 08° 04' to 37° 06' North (4) 68° 07' to 97° 25' East

89. YA 9 HARUTIT ATHAl IR Yoo ford fawmT Feret o12d ?
1 12 (2) 16 (3) 08 4) 10

For coordination and management, Indian Railways have been divided in to how many
divisions ?

1) 12 2) 16 3) 08 4) 10

Hoedl FHIFTEATS ST / SPACE FOR ROUGH WORK
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90. TeaT At AT HIvT T STUHH JvAT ST Bl ?
(1) THSEE T ‘

(2) omemfadar
() HHaitufted =marEs faw™
4) YRR wHdd

Which objective-was given top priority in the Ninth Five Year Plan ?
(1) Socialistic Pattern of Society

(2) Self reliance
(3) Growth with social justice and equality
(4) Regional balance

91. IV U AT HISM fTHT FheuTel ST HET QRS Jafan Ji s ?
(1) fget deanfie s 2) TEQ gFETE AT
@) foudt daanfis Ao (4) UT=E! GEEIe A
In which five year plan period the resources of developmeﬁt sector had to be diverted to
the Defence Sector ? :
(1)  First five year plan (2) Second five year plan
(3) Third five year plan (4) Fifth five year plan

92, Wrelterden! shivredn TRt STVt Fehed enfud -ATe ?
(1) HeIHad - (2) FEgFRH (3) TId W (4) gt

Which of the following places does not have a Neuclear Power Plant ?
(1) Kundan Kulam (2) Kalpakkam (3) Ravat Bhata (4) Neyveli

93. 2011 =AT S{ATUM=AT 3MYN HIVH o TRAN THFhaA Hald W& 80 dlhaEdl e 14
e ?

(1) i (2 e (3) difiesrg (4) F
Which is the most urbanised state in percentage of population as per the 2011 census ?
(1) Goa (2) Mizoram (3) Tamilnadu (4) Kerala

94, WWWW{#WW%?

(1) wi® fHm (2) weeER feA

(3) wRmed fFa| (4) sfegm f&m
Which of the following is a part of the Indian eastern coast ?
(1) Konkan Coast (2) Malabar Coast
(3) Coromandal Coast (4) Southern Coast
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95. TRNIME QAWK 1 G -Tet 7

(1)

ARRIE AREREET 75000 Y tfuew =.few.fa. &7 sugaa ofe.
TR AR @1, @ 9 mives 9rogmer 9.

31fyer AR e IUgER 9.

AR 374 qehedid WE gehfdd S

A IRTedId HIHAR] ¢ 3T,

(@), (b) (2) (o) (d) @) © (@ 4)  (a @)

What is not true of fishing in Maharashtra ?

(a) More than 75000 sq.kms of area is available for fishing in Maharashtra.
(b) Fishing in Maharashtra is on marine, estuarine and fresh water.
(c)  More fishing is done on fresh water.
(d) Almost half the fish collected is dried.
(e) Fishing is closed in severe summer.
1) @, 0 2) (o) (d) @) © (e 4) (a) (@)
96. SIS AT :
(a) &9 i) TN
(b) Y™ (i) 1Y
(¢) T (i)
(d) =g (iv) faet
@ () (© ()
L O @ @) (@)
2) @ @) @ @)
() @) (@) @) @)
4 @) @ (@v) ()
Match the following :
(a) Apta (i) Paper
(b) Palas (i) Catcehu
(¢) Khair (iii) Colour
(d) Bamboo (iv) Beedi
@ () (© ()
L @ ) 3§ )
(2 @) @@ @ )
(3) @) @v) () @
4 @) @ @) (i)

ool RIATETS! ST / SPACE FOR ROUGH WORK
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97. 2005 TEd HeIHTHT, Heraed v #etfaawor a1 7 o= YT TR FI0I AT
e

1) THUE.3S. 7BRE Ty fagd qse.

2)  TH.LHL S HRRrg ggwer feEE Hee.,

3) TH.UH.UH.STH.ELH. WERE RN 9w mmee.
4) TATEARIH. TR T A1l qRaed 68

o~ o~

Mahanirmiti, Mahavahan and Mahavitaran are three companies carved out of
in 2005.

(1) MSEB Maharashtra State Electricity Board.

(2) MPCB Maharashtra Pollution Control Board.

(3) MSSIDC Maharashtra Small Scale Industry Development Corporation.
(4) MSRTC Maharashtra State Road Transport Corporation.

98. SirE &G
<t FHEA
(a) TER (i) TREDBTER
(b)y ot (i) FTHTR
(c) FeOm (iii) TfaerTe
d) o (iv) TSR

(@ () (o) (d)
1 @ @) (v) (i)
(2) () (v) (1) (i)
(@) (v) @) @G @)
(4) @) (@ @) (@)
Match the following :

River Source
(a) Godavari (i) Mahabaleshwar
(b) Bhima (ify Tryambakeshwar
(c) Krishna (iii) Gavilgad
(d) Purna (iv) Bhima Shankar
@ © © @
O 6 G Gv) G

(iv)y (i) (i) (1)

)

2) @) (@v) @) ()
)
) @) @ (1) (@)
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99,

HESIIAE IV YU Aocd WA ST Sl YaTae Ired fiesdt ?
(1) T=EarE (2) Hi®HT (3) @™ 4) fagd

Which region of Maharashtra receives rainfall from both the branches of North West
Monsoons ?

(1) Marathawada (2) Konkan (3) Khandesh (4) Vidarbha
100. <eIdTe dfeet W G AR feRdie wivren fewon yeafed R ?

(1) 9ETmE (2) fyaR (3) R (4) TREE

Where is first ‘Orange Winery’ of the country proposed in Nagpur district ?

(1) Savargaon (2) Bhivapur (3) Katol (4) Narkhed
101, TRARHFR! HVR @S dRarTs @ ?

(1) R (2) ferirre (3) famrge (4) HHeEe

Which of the following ores is not an iron ore ?

(1) Hematite (2) Limonite (3) Lignite (4) Magnetite
102. WERETAS dige f1h Wl w1 gE Al ?

(1) TR 2 ™ (3) SR (4) SIRmER

Where was the first Sainik School started in Maharashtra ?

(1) Nashik (2) TPune (3) Satara (4) Aurangabad
103. TERTEM S 2010 Td fohet STafaea Yehew U1 hR0AT Tele 37Ted ?

(1) 50 (2) 60 (3) 48 4) 25
How many hydroelectric projects have been completed in Maharashtra by June 2010 ?
(1) 50 (2) 60 (3) 48 (4) 25

104.

HERTSTAT 51 JUTeitaTad iV faum oeh o1e ?

(a) TETERY HeERTSZ™ YHR A & s

(b) IRHEA HIST T TE ARSI ITH qIFard

(€) TSI HERTA AvT=a1 e ufvem afet Ten o7ed

1) () 2 (b) 3 (© (4) TR HI0AE E.

Which statement about the river system in Maharashtra is not correct ?
(a) Godavari covers almost half the area of Maharashtra.

(b) Two of the northern rivers originate out of Maharashtra.
(c)  The rivers coming from outside states are west flowing rivers.
(1) (a) (2) (b) 3) (o (4) None of the above
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105. ik I Tehed HIVT [T FERMEIGT IHI Ufee ?
(1) BRI, e, FAleH, Fle
(2) NI, dHoeTg, e, $ies
(3) R, ToRM, Hlesh, Hie
(4) TRRTY, FAlCH, AMHDBG, e
Which states have colloborated to develop Konkan Railway Project ?
(1) Maharashtra, Goa, Karnataka, Kerala
(2) Maharashtra, Tamilnadu, Goa, Kerala
(3) Maharashtra, Gujrat, Karnataka, Kerala
(4) Maharashtra, Karnataka, Tamilnadu, Kerala
106. YRATAIE T HHIGIE ST Yod TSl BT R ?
(1) e vrTsal 2) YR - feoel (ISTUT TEEEE)
(3) U@ 4) TFRT FMH
Which is the second fastest train in India ? ‘
(1) Bhopal Shatabdi (2) Mumbeai - Delhi (Rajdhani Express)
(3) Duranto (4) Deccan Queen
107. YRATA TUdiahed Teaqyar fohdl gee= gt hal S ehd ?

1) 02 ) 10 3) 12 (4) 08

How many members can the President of India nominate to the Rajyasabha ?
(1) 02 (2y 10 3y 12 (4) 08

108. fSteer qdwe=a1 S5 I ford! 8% ITehard ?

(a) T faaer del,

(b) S ST SR =R e,

(c) <H SSHIdIA A 3 AfgATIE AfYw Tahl.
(d) <A FSHAIA AW 4 AigATIE AYF T

1) (@9 (b) 2 ®F() 3) ()= () 4 @9

How many meetings can there be of Zilla Parishad in a year ?

(a) As often as necessary.

(by At the most 4 times a year.

(c) A period of 3 months shall not lapse between two meetings.
(d) A period of 4 months shall not lapse between two meetings.

(1) @and(®) () (and(© () (Hand(d) (4 (a)and ()
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109. TIUTET= HdHe fohdt T8 ?

a) 599

b) Tgud WSl STETHd

¢) TSguTH FesT ST

d) ge=E 391 Aaada.

(1)  (a) ST (b) (2) (a) T (0) (3)  (a) T (d) (4) (b) 3N ()

(
(
(
(

What is tenure of the Governor ?
(a) 5 Years
b) during the pleasure of the President.

(

(c) as per the desire of the Governor.
(d) as per the desire of Chief Minister.
(

) @and(d) (2 @and(© () @and(d)  (4) ()and ()

110. YRAE |fa9m™ 10 TAYT Faeai= FHIENT Hegl HI0AT e ?
1) 1969 (2) 1951 (3) 1975 (4) 1976

When were the Ten Fundamental duties added to the Indian Constitution ?
(1) 1969 (2) 1951 _ (3) 1975 (4) 1976

111. SIVET S ST /e 8ok {1 WA |Isiy St St 2

(1) 2 THRI (2) 15 3=

@) 1594 (4) 10 fedsR

Which day is celebrated as a ‘Human Rights Day’ in the world ?
(1) 274 October (2) 15t August

(3) 15th March (4) 10t December

112, T HRYRG Siehi=l Fg9TT Teral A o wiieret i Heft s 2

(1) Tl |fiyd=n (2) g i

(3) fawa wftr=t (4) FrawE afd=h

In order to enhance people’s \participation in local governance which committee is
formed ?

(1) Standing Committee (2) Ward Committee

(3)  Subject Committee (4) Planning Committee

AT HATEES! 9T / SPACE FOR ROUGH WORK
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113. FE A= FEET dhegl GHd el ?
(1) 1950 (2) 1952 (3) 1955 (4) 1958

When did the Parliament pass the Indian Citizenship Act ?
(1) 1950 (2) 1952 (3) 1955 (4) 1958

114. "Rt oo wiwg o d=rem afbdt srfufraamenad 3 o Wi ?
(a) = fufamren werrsy e qftg @ Yemad Wit stffam 1961 =,
(b) @ WYl R T TR,
(c) AR Hagen o TR
1 (2 (2) (b 3 (9 (4) ot Yoht hroTEl e

What is not true of the Maharashtra Zilha Parishads and Panchayat Samitis Act ?

(a) This Act is called Maharashtra Zilha Parishads and Panchayat Samitis Act 1961.
(b) It is applicable to the entire state of Maharashtra.

(c) Itis not applicable to Greater Bombay.

1) (@) (2) (b) (3) (o (4) None of the above

115. FIOTR FEAGEAGR GAIAN HAHR ToTl VAT 3T ?
1) 7274 (2) 7374t (3) 74 S @) 754

Which amendment gave Panchayat, a Constitutional Status ?
(1) the 72 (2) the 73 (3) the 74th (4) the 75t

116, MRAE GFSYM=ET I YT GEEATS SR WA= qe’ 3| 9l 3R ?

(1) 73 &t SeAgE (2) AYd TR
(3) SeufaE (4) Tt Anfests T

Which part of the Indian Constitution describes Panchayat Raj as “Institutions of Self
Government” ?

(1) 73rd Amendment (2) Fundamental Rights

(3) Preamble (4) Directive Principles of the state policy.

117. 9 VA GO fhdt Seaiesd 9 Heenfad JevT 3TRd ?
(1) 28177 (2) 2639 (3) 2748 (4) 2946

At present how many states and Union Territories are there in the Indian Union ?
1 28&7 (2) 26&9 3) 27 &8 4) 29&6
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118. YRAY Sfaumr=ar Ifirehd I Tafaw had s &I ?

(a) wETETT (b) wHFREE (c) TEYH (d) uTEl
(e) TUSH () == (g @A (h) HHFE
(i) sy (j) ST

1) (a) (b), (j) @) (c) (d), (B 3)  (e) (g) () @ @ @ O
Which words were added to the Preamble to the Constitution of India last ?

(a) Socialist (b) Secular (c) Sovereign (d) Democratic
f)  Justice (g) Liberty (h)  Equality

j

e) Republic
i ) Integrity

( (
(i)  Fraternity (
( (

1) (@), (k) () 2) (9 (@), () (3) (o) (g) (h) @ @ @ O

119. 3 AATAIE =ETEtenE] et Hivr w2

(1) A (2) T (3) g (4) FEA =

Who appoints the High Court Judges ?

(1) Prime Minister (2) Governor (3) President (4)  Chief Justice
120. T T9TA AT,

(1) T faurrgsiees fHata (2) HayaHiHgA TmfERE

(3) TEwFgT FEw (4)  ATIET FORE

The Governor of State is .
(1) elected by the state legislature. ~ (2) nominated by the Prime Minister
(3) appointed by the President (4) none of the these

121. JEieden! &0 fSeer gRyeen Sif-ae o vehd ?
(a) UETEN FFIE AT AATEd SrEeseel UM SITd el STHATH ot e,
(b) SfEl-Tt it
(1) () S 91t (b) T (2)  (b) AR (a) TR
(3) = o TR ARG (4) TG o THAW

Who from the following can become a Councillor of Zilha Parishad ?
(@) A person of unsound mind so declared by a competent court.

(b) A person who is deaf-mute.
(1) (a) can become (b) cannot (2) (b) can become (a) cannot
(3)  Neither can become (4) Both can become

HoAT HTHTHS AT / SPACE FOR ROUGH WORK
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122, YRATT ToISE=aT HIVI] YTTd ATeyieh dxaie] THAY HI0amd 37e7 3778 ?
(1) fae=n v (2) ufgen wrTd (3) e qFI (4) TEA WFTE

In which part are the Directive Principles of state included in the Indian
Constitution ?

(1)  Third Part (2)  First Part (3) Fourth Part (4) Second Part

123. @eiads! ®Ive Fagum= e TRar Haeue s Fal S A& ?

(1) T REs e (2) TeEE s

@) e @-emea asE (4) U=ud s

Which of the following elections is not conducted by the Election Commission of India ?
(1) Loksabha Elections (2) Rajyasabha Elections

(3) Local Self Government Elections (4) Presidents Elections

124, FHTAMIA ' ARIeTfgaad’ A=l WOk HIT HIE ?
(1) s (2) Useydl (3) I (4) YI9Y™

Py

Who appoints the advocate General of the State ?
(1)  Chief Minister (2) President (3) Governor (4) Prime Minister

125. TTETGA Tl heledl SHIT Hegardia fhdl aret amaaradran el ?

(1) 70% (2) 20% (3) 30% (4) 50%

How much share does Gram Panchayat get of the land revenue collected from the
village ?

(1) 70% (2) 20% (3) 30% (4) 50%

126. feeeht-qag gefigaa Hielt Tnee fodt Teelt efya oM ?
(1) 9= (2) (3) 9 (4) 3

How many states are involved in the Delhi-Mumbai Industrial Corridor Project ?
1 5 ) 6 ¢ 7 4) 8
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127. 317 2012 UsT faref 9aqit 9@ 5% I&I 1 THRAT 8l ?
(1) SHICHE YLERHS (2) U=l YeTEE e
(3) ferien srarEtees 4) fafay semargs
Basically for what was the nation wide strike organised by the Opposition Parties on 315t
May 2012 ?
(1)  Corruption in high places (2) Hike in Petrol prices
(3) Police high handedness (4) Various scams.
128. TR.HL.UA. 2012 HA ‘& 37’ =1 37 v <ran 2
1) S €W Wese AEA @
(2) =91 I HIAETRR Wosed oL
(3) 9 €W e |
(4) < AW e 4 lgedn .
What is the meaning of the term "Play Off " in IPL 2012 ?
(1) The teams that did not play.
(2) The teams that played outside the cricket ground.
(3) The teams that lost.
(4) The teams that reached the last four.
129. 2015 9&d B U feada faveaeme fee @ e q &
& TR
(1) 3e - Imde (2) T - <farr sifmet
(3)  srefern - =faee (4) i - SR
The One Day International World Cup Cricket to be held in 2015 will be jointly hosted by
- and __ .
(1) England - Ireland (2) Kenya - South Africa
(3) Australia - New Zealand (4) Sri Lanka - Bangladesh
130. dgTF GIHAT=T STRATATIHR YRAIS fohel 2ok Teh QNS WNQTEATA ST SETard 7

) 37 2 27 3) 17 4) 47

How much percentage of people in India live below the poverty line as per the Tendulkar
Committee Report ?

1) 37 2) 27 3) 17 4) 47

THoedT HIMTEIS 9RT / SPACE FOR ROUGH WORK
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131. YRA TRHRA AT Hee! 5 feet dROER fadl <oh Wat Nigaear STHdr faet a1 ?

(1) 253%F (2) 51Tk (3) 41 TFh (4) 100 TFk
Government of India has given consent for of foreign capital as per its
multi brand retail policy.

(1) 25 percent (2) 51 percent (3) 41 percent (4) 100 percent

132. YRAH fwae Fames Ao 3reaey Hiv fRd ?

(1) TR HHTET (2 oy erHE

(3) T e @) T, et

Who is the President of Board of Control for Cricket in India (BCCI) ?
(1) Shashank Manohar (2) Chirayu Amin

(3) Sanjay Jagdale (4) N. Shrinivasan

133. EIUTETE QARSI S Falcht SHrafde! fee S ?

(1) feam (2) HESEE

(3) fee-yfuao (4) AR

For excellence in which field the Dronacharya Award is given ?
(1) Education (2)  Social Service

(3) Coaching in sports (4) Journalism

134. 2011 <t HiATaed TG KV T AR H0ITd ATt Bl ?
(1) <A (2) HBHIG (3) fafs (4) et

Where was the Common Wealth Games competition held in 2011 ?
(1) London (2) Kathmandu (3) Beijing (4) Delhi

135. 39 37Ot L. dagwmwaﬁmmﬁ?

(1) IS8 G <TATE ) e wife vamEmea

(3) dE @S IvIEEd (4) fade T Iva@EmEd

What charges have Team Anna levelled against Hon. Prime Minister ?

(1)  Allotment of coal blocks (2)  Allotment of residential plots
(3)  Allotment of iron blocks (4) Allotment of cement blocks
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136. 26 91 3Qy el LA THAAT [ERR HIVITAT GIH FHI0ATE 3T 7
(1)  37oon & (2) YT IEHT
(3) WA g (4)  WeId Yo
Who-has been awarded the 26t Indira Gandhi Award for National Integration ?
(1) Anna Hajare (2) Medha Patkar
(3) Mohan Dharia (4) Prashant Bhushan
137. 9 2012 =1 YoEdra SAHHT HIome 931 fayyor QR IRfauam 71 ?
(1) 41, gHgraT 30 (2) €. FidieTa &S Fadt
(3)  HiHdl FreT ST (4) A vdH 7™
On the occasion of the Republic day 2012, who was felicitated with the Padma Vibhushan
award ?
(1)  Shri Dharmendra Singh Deol (2) Dr. Kantilal Hastmal Sancheti
(3) Smt. Shabana Azmi (4) Shri. Jatin Das
138. A TE Y@ WA &1, %, fT7 wiven Sl s 2 ?
(a) A I ARG T_AD
(b) 3R FHOM
() wWETH fafsad U@ M9 99 Feama
(d) faferedt & @ o fReans.
1) (@, (b 2) (©. @ 3 (@, @) (). (d)
What for was the former military chief Gen. V. K. Singh in the news ?
(a) Change of his date of birth
(b) Adarsh Case .
(c) One confidential letter addressed to the government was leaked
(d) For granting military area to a private company. ,
1) @, (b) 2) (©.(d 3) (. 4) (), (d)
139. FH0edl WS! fesraeren " 2012 Well Faiepe Feeuems=n U kR SER el ?

(1) sReswET HeRd (2) et we

(3) G . (4) SrTen

To which Marathi film National Award for the best film was announced in March 2012 ?
(1) Harishchandrachi Factory (2) Dombiwali Fast

(3) Deul (4) Jogwa

%oeAT TINTHIS! ST / SPACE FOR ROUGH WORK
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140. favaya HFg 9o HE @Y R ?
(a) AT 64 S HYTE FFOTAM.
(b) TN gEa® favafasidug 5 da1 Nt
(c) &1 2012 we & Tyl "iew! A9 gt
(d) 97 2012 =1 fovafasiduer=a Wq @M sEEe= 9ifid Tahsal siaa.

(1) (a), (b) (2) (o) (d)
(3) (b), (0) (4) w9 faum s emRa

What is true of Vishwanathan Anand ?

(a) He is regarded as emperor of 64 squares

(b) He has won world chess championship 5 times

(c) In 2012 this Championship was held in Moscow.

(d) In 2012 Championship, he defeated Izraels Boris Gale Fund.

(1) (@), () @ (© @

(3) (b), (¢) (4)  All the statements are correct

141. @lerdeh! HIUE T BRICS ¥ H&& AR ?
1) faea o (2) W (3) WA (4) <RI TR

Which of the following countries is not a member of the BRICS ?
(1)  Britain (2) Russia (3) India (4) South Africa

142, TR 37ATS - T 2011 € HIUH W FAiad S0 AT 3778 ?
(1) STAT TR &7 FETAYU] HIATR .

(2) WIS SA Gl FHIATeh .
() e WUEd yiawrae faeneatan fagm fowamsan siverese STt HIvarsh .
(4) Torer &3 el SRR

The Inspire Award Scheme 2011 has been instituted for promotion of :

(1) exemplary work in the field of national defence.

(2) major works in the field of social life.
(3)  attracting meritorious students at school level towards the study of science.
(4)  excellent work in the field of sports and games.
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143, T e @ fawa s g gafase o ?
(1) = (2) T
(3) R el (4) R TS
In which list is the subject ‘Local Self Government’ included ?
(1)  Union List (2) State List
(3) Concurrent List (4) Panchayat Raj List
144. FHd HARYTS STEH FIOTHIS! FHTE AR FEAT Sl 2
(1) 3 € e (2) TWIEH IR (3) I TH AR (4) TATH IR
What is used to read a cheque in a bank ?
(1) OCR (2) MICR (3) OMR (4) NMR
145. RN eyl SeTanl @refeis! Homa gay T ?
(1) @R ¥ 3 @) .= vEE
(3) frreami (4) Fowr fag
Who among the following is not named in the Adarsh Scam of Maharashtra ?
(1) R. C. Thakur (2) P. V. Deshmukh
(3) Gidwani (4) Krupashankar Sinh
146. 2011 TEd HoT=t JFAEED TG Frafqex wuE fae wnef o1g ?
(1) Ay 5= ) f R @[
(@) % fa @| 4) foris <
Who has been appointed as the National Ambassador of the UNICEF in 2011 ?
(1) Amitabh Bachchan (2)  Amir Khan
(3)  Saif Ali Khan (4) Priyanka Chopda
147, ArAtRAL Afa T gavl 95& T HOR THHE YRA @oilg i ?

(1) =t firs (2) e foigr

(3) I5H Hidt (4) fow™ FoE

Who is only Indian sportsperson to have won the individual gold medal in the Olympic
games ?

(1) Sanya Mirza (2) Abhinav Bindra
(3) Ranjan Sondhi (4) Vikas Krishnan
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148. ST TSN Yohed IHRVAT HIVAT SUTS TEhT SR ?

(1) smfE (2) W (3) *AE (4) frn

With the cooperation of which country the Jaitapur Atomic Energy Plant is being
erected ?

(1) America (2) France (3) Canada (4) Russia

149. 33 faer=t (Ha3) SO HIOTA THRSMHIE! A 3T9M SRR AN FHT0ATd STTet ?

(1) @ e (2) IYEAUE I

(@) Bl & AR, sMdEH (4) TSig M

For whose memorial the land of Indu Mill (Mumbai) has been strongly demanded ?
(1) Mahatma Gandhi (2) Yeshavantrao Chavan

(3) Dr. B. R. Ambedkar . (4) Rajiv Gandhi

150. GIEerdsh! 370] o1t AN v iy 1R 2

(1) €l I9d Mars 2) fosa gea
(3) . gAY ARIEHT (4) Sl e FHRIsHT
Who among the following is associated with the Atomic Energy Commission ?
(1) Dr. Vasant Govarikar (2)  Vijay Bhatkar
(3) Dr. Raghunath Mashelkar (4) Dr. Anil Kakodkar
-o0o-
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oAl — (g 1 9% 9g....)

®) Tqfaeaed fafed o fafire IFe £ FH (W6 o) 6. TR ITAAHRL o
T FORTR F=) HI9 HeA™ @ FUl HOFT WM Hel 38, 38 IS TR 9 AR SHGARER
AN S et gheimed g TRyshREn Ffasy swareread Afufaa-g2" adie RESTER AT
FOAE U 9 <A FEKN HHE Ueh quTeA HIEETA 01/ fohan 98 TH TR WA= <SraA g
A B

9) T FEIfFRaE ST fafid St 9o HuTaHE SHEAE B TE] $d et Temh e

HEA U™ WA AR, WA TR TaTed STUaTgdl S 3TUedr STRufAdar WIT-1
AHAeTRS 7 fauwar wa v ayas 3E.

q. . 201.

. . 201.

AT U
HSTER hIeT 39T TR A1 SRR 31 S ?
1) TR @  Iwifad A9
@) Afqa fid ae @) e I
YN A 3w (3) AfaeE it aren’’ o AR, WM W TR IWO(3)" dRa.
AT WICIRIO! §9 3. 201 FHIdel Iw-shais ' (3)"" ® Sfes quivvl Bralfehd e qrafal
HTTTF TR,

ONON O

3TN TSAE TR TR AT Td FIArEl {HEl SUGhHIG € gReTel eIl Riaered
ITARTNT T N TR AREART Fafad ages quias S1ifhd & r@dmE.  grehfar
el THTeedl INEY AU aTuRrd, AF-UeT ar IIige U aros 4.
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